AQAH

A-level
MODERN HEBREW
71672

PAPER 3 LISTENING, READING AND WRITING

Mark scheme

Specimen 2020

V1.0

aga.org.uk

Copyright © 2017 AQA and its licensors. All rights reserved.
AQA Education (AQA) is a registered charity (registered charity number 1073334) and a company limited by guarantee registered in
England and Wales (company number 3644723). Registered address: AQA, Devas Street, Manchester M15 6EX



MARK SCHEME - A-LEVEL MODERN HEBREW - PAPER 3 — SPECIMEN

Mark schemes are prepared by the Lead Assessment Writer and considered, together with the relevant
questions, by a panel of subject teachers. This mark scheme includes any amendments made at the
standardisation events which all associates participate in and is the scheme which was used by them in
this examination. The standardisation process ensures that the mark scheme covers the students’
responses to questions and that every associate understands and applies it in the same correct way.
As preparation for standardisation each associate analyses a number of students’ scripts. Alternative
answers not already covered by the mark scheme are discussed and legislated for. If, after the
standardisation process, associates encounter unusual answers which have not been raised they are
required to refer these to the Lead Assessment Writer.

It must be stressed that a mark scheme is a working document, in many cases further developed and
expanded on the basis of students’ reactions to a particular paper. Assumptions about future mark
schemes on the basis of one year's document should be avoided; whilst the guiding principles of
assessment remain constant, details will change, depending on the content of a particular examination
paper.

Further copies of this mark scheme are available from aga.org.uk
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Section A
Listening
Comprehension questions to be answered in target language but with no AO3 marks

Where the natural answer to a question consists entirely or partly of words or phrases from the recording
students may use that material without rephrasing it. Minor spelling errors which do not distort the
meaning will be tolerated. However, the AO1 mark will not be awarded for a response in which the
student includes irrelevant material or inappropriate information from the stimulus, eg by ‘lifting’ an
element from the original which does not match the phrasing of the question set.

Qu Accept Mark
01.1 ul 1
01.2 N 1
01.3 b} 1
014 N 1
01.5 b} 1
01.6 ul 1
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b
27mn 1 NnYI
19 N3 NN
03.1 1950-2 1 NIV
' o * 50 N2 NN
N2 NP N 2:); . 1954-1
Y VNN
P92
NN
VONYIND e
03.2 1 NN
NI NN e
9PN
NIV
NN
maARal
NN
DTy
03.3 DAY NNNNI e 1 P91
NN
NN
NN
NIVA
noNnv
37m 1 monv
(-2\oy)
WN NOYONY e DYNYN
03.4 | DY NMNYTIN) PYNVY e 1 YO IO
(™MM1a5> MM 291V M5
MO (DONHN DY) o nonva
5990 YHoY NYIAINITN
NINYTN MY
2 N
035 VNN DT e L v»IAN VN
' .13 YT YT
m1a
NI
DAY TINI) e
03.6 1 DOV NNMN
MIAINN HY NOYD
NIVN
o7 e (nynea
03.7 2
DNIYNIND o VN IO




MARK SCHEME - A-LEVEL MODERN HEBREW - PAPER 3 — SPECIMEN
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Summary guestion: Question 4
Qu 04 Accept Mark Reject Notes
TMPNTYY e
PNV NYNINN MIVN N MY
990 NYNN
100 3 -1 PNV
1983
NN MMV DTPY e -NDNTDY .
29V N P VN e
TID -1 PPN
PIVRON MNITO o 179y 1983
DIDON MNITO o DY
Bullet YIIP MINITO o o0»M12n
1| DORUNIMPOWN NPV e 3 OO
DMV o»n;:m D1 W)
DIRVYI MPOWN DMV e
D)’I:Wﬂ 1"1'\;1’3”\;3:17}\’,-1 myoIn e
WNN Hw -2 D9NNYn
MNIA MPOWN NIV e 9y 2 500
PPNYI MPOWN NMIYO e 14- DONDM2
DXON MPOWN NMYY e 18
D2y MY P2 DYVPNMIN
MPOWN NMIY AYINN Y

TIOIDN V¥ NPNVLDINA
YWNIY-IWYN




MARK SCHEME - A-LEVEL MODERN HEBREW - PAPER 3 — SPECIMEN
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The marks for content (AO1) and language (AO3) are awarded independently. Long summaries will be
marked for content (AO1) or language (AO3) only as far as the first natural break (usually the end of a
sentence or main clause) between 90 and 100 words. Short summaries are not subject to an automatic
penalty but in practice are unlikely to include all the required content points and will therefore be self-
penalising.

The AO1 mark is awarded for content points which contain the required information, regardless of
whether those points are expressed in the student’s own words, or are partly or wholly lifted from the
recording. However, no AO1 mark will be awarded for a content point where the student includes
irrelevant material or inappropriate information from the stimulus, eg by ‘lifting’ an element from the
original which does not match the phrasing of the bullet point.” ‘Lifted’ language will not be eligible for
credit when the AO3 mark is awarded.

*Generic example of ‘lifted’ language:

1

Text includes Having finished her studies, she became a doctor.

Summary task includes the bullet point What she did before becoming a doctor

Correct answer is She studied

Student writes in response to that bullet point Having finished her studies, she became a doctor

No credit for AO1 because the response does not match the phrasing of the bullet point. (Also no credit
for AO3 because of lifting.)

2

Text includes ... because computers will replace teachers

Summary task includes the bullet point Technological changes anticipated

Correct answer is Computers will replace teachers or, to demonstrate successful manipulation, Teachers
will be replaced by computers

Student writes in response to that bullet point because computers will replace teachers

No credit for AO1 because the response does not match the phrasing of the bullet point. (Also no credit
for AO3 because of lifting).
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Minor errors are defined as those which do not affect communication.
Serious errors are defined as those which adversely affect communication.

Minor errors include:

incorrect but close to correct spellings
incorrect genders and consequential errors of agreement unless these alter the meaning.

Serious errors include:

incorrect verb forms especially irregular forms
incorrect use of pronouns
missing or incorrect agreements of adjectives and verbs/tenses.

Complex language includes:

use of pronouns of all types

tenses that support conceptual complexity

connectives supporting a range of subordinate clauses including those requiring subjunctive
constructions with verbs and verbs followed by infinitive with correct preposition

use of present and past participles

use of passive forms

use of hypothetical conditional sentences

Mark | AO3 quality of language marks in the listening summary task

The language produced is mainly accurate with only occasional minor errors. The student
5 shows a consistently secure grasp of grammar and is able to manipulate complex
language accurately where required by the task.

The language produced is generally accurate, but there are some minor errors. The
4 student shows a generally good grasp of grammar and is often able to manipulate complex
language accurately where required by the task.

The language produced is reasonably accurate, but there are a few serious errors. The
3 student shows a reasonable grasp of grammar and is sometimes able to manipulate
complex language accurately where required by the task.

The language produced contains many errors. The student shows some grasp of grammar
2 and is occasionally able to manipulate complex language accurately where required by the
task.

The language produced contains many errors of a basic nature. The student shows little
1 grasp of grammar and is rarely able to manipulate complex language accurately where
required by the task.

0 The student produces nothing worthy of credit.
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Indicative content

Summary 1: 90 words — AO3 5/5

Y29Y YN P2 PNI2AN MM T TTN MIAN DTPD NN "MYI-NPRTOY NYNN DY MIAPIYN NNIVH
)2 500-5 DXANNYN NMDOYHL .0MVIAN DMNIAN OIXRYNI NMMDOYI 1NN MNINND NIYNND ITIPD
NYNNN NP YN 22 DY DPHRPN MND DIXNYP NMDYIN IXW NIND 22N MY DD YN
DOWTN DXWINY NITHY N2 D NIIN NYNNNY INN TINR YNNPI DY NIVNT NMINITO MO
DT YNNIV N INND .21V 1IN DY DIPN RN NYNNN IDPAWIYY ,NINK 1IN 7PN XD NINY
NN DNYNHYI P MNONNN DX NNWD TWARYY NDNYT MYSNNI 0NN DIV DNNND TR INMN
N2 MMV NIV NYNN TIT

Summary 2: 90 words — AO3 4/5

9Y1) 32 P2 NN MM NTTN MIAN DTPY NN PMYI-NPRTO” YN DY NPIPIYN NIVNN
-3 DANNYN NMDIYHL .0V D1NIIN DIXRWI JY NNV NN NININRND NYNIND ITIND 227y
MY .IYNN 22 HY DN DINYP MMDPYIN IXYI .XINI MMIPNI NN MV D IV 11 500
DOWINY MYTHY N2IN D NIN NYNNNY INNX TN YNNP) DI PNIONIN NINITO MDD NYNNN
NYNNNY ININ IINRD .2V )INT DY DIPN NI NYIINN I1Z2AVIAYY ,NINK IN0 XI RINY DXVUTN

TIT DIWNRYI P MNONNDN NN NMIYD IWIRYY ONT DY DMNIIN DX DNNND PR ININ N0
MM MNPY DY NVNN

Summary 3: 87 words — AO3 3/5

.DYTIND D29y YN P2 INIIN MAMYI TNROD RIN "MYI-NPRTO? NYNNN DY NIPIYN NIVNN
95 9y¥1 72 500-5 DXANNYN NMDOYAL .0V DNIIN DIRVI DY MY NN PINRND NYNNN
MS215 NYNNN MDPYAN IYNN 12N DY DMNY MMNYP NN IRV NIND NMIPN NN MY
NINY MYTN DXWINRY MTHY NN I N0 DYNNIY IIN PNIXR YIIPM DN NIOVONN NMINITO

TN N DTN NYNNIY N IIRD .2I0 NN DY DIPN XIN NYNNN DMWY ,INN PON N
MNPV DY NYNN TIT NIVYIWI P MNONNN IR NN IWIRYY ,NONT DN YNIIN DIV DNNND
SPON)

Summary 4: 82 words — AO3 2/5

DTN DX29Y IWN PAONIIN MM THOD NIN "MYI-NPRTO” NYNNN DY MIP2Y NIVNN

IV 52 ¥ 22 500 1IDNNWN NN’V .D»VIT) DMNIIN DINRVI DY MDY NN PINRND NYNNN
NI IYNINN MDY .DYIYNN 22N DY D1NI NP NMDOYI DIRYNN .NIND DDIPN NN

, 10N KDY NINY MYTN DOVIN 1277112 N0 NYNNNY NN IN VYNNIPN DN )NIVND

DN YNI2N DY DNNND TN NY NTNHIN NYNNNIY TN IINRD .20 )INT DIPN XIN NYNNN 12°2va
Y957 MY DY NDWNN TIT DIVNYI P MININNN NNV IWANRYY NIINT

10
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Summary 5: 82 words — AO3 1/5

DYNINND NYNNN .OITINPD DAY YN P2 ONIIN MAMY 7MYI-NPRTO? YN DY Py NINNN
DYPN NAINA MY 5 IWNN 2 500 IDNNWN NPV ISPV YNIIN DINRW) DY DI NN
DIPN IONOV XN IYNNT MDPYHN .DMIYNN 1IAN DY DN NYP NP DIRVIN .NINI
272U, NINK I SNMN XOY MYTN DWIN NN D NI NDYNNIY NININ PNIN YINIPM
YNI2N DY DXNNND PR OMN NTHDN NYNNNY DININ IIRD .21V )I¥T DY DIPN NIN NIYIND
72 MNYY DY NWN TITN DNIVNHYI P MINOYIN NNV TWIRYY NONT DN
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Section B Translation
Question 5
Guidance on level of accuracy in translations into the target language

Errors of spelling
Errors of spelling will not be tolerated.

Tense endings, irregular verb forms and adjective endings must be correct.

Errors of gender

Errors of gender will not be tolerated. Genders of nouns are clearly an area where guidance can be
provided in the passage that supports the translation task.

Alternative answers

Alternative answers offered by the candidate — even if one is in brackets — will be rejected unless both
answers are correct.

A successful translation

A successful translation is one which includes each element of the text to be translated and where there
iS N0 omission or paraphrase.

Repeated errors

Where a candidate repeats the same error within a question, no further penalty will be imposed in
awarding the mark.

12
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Qu5
The table below shows the type of answer that is acceptable for each section of the text.
Award one tick per correct section then use the conversion grid to award a total of 10 marks.
Box Accept Reject
b b b b M
1 My 25" birthday, ,IYINNY DIVYN ONTON O) vnNnn DXIVYN
25-N N7 O\
2 which was celebrated, DMVY NN
3 in my parents’ rented flat 71 HY NNOYWN NPT ma
4 in the Kibbutz where | was ONTHN 1Y \1P2 LU NN
born,
5 | enabled me TIVAN T JMVLY IWN
MO\..0 PON/MN DITRNR WD
6 to meet some of
W)
7 the original members of the .D»NPNRN NP MANND DN
Kibbutz.
8 My father ‘took ownership’ MoYa NPY’ AN mo»my
9 | of the party. .N2X0NN DY N2>0N2\NONN2
10 | We came to 2 INA\D NN
11 | a mutual agreement: JTTN NNOON TN
12 | we will have a 10 MIN (Mak
13 | traditional party ,JPNON NON YNNON
14 | just like 5 P12 9
15 | the ones M20N YMNR\NON DNNMONIN
16 | he used to have - Y PRV NN D07 7PN NINY
17 | high consumption DM NN 129N
18 | of orange juice, DXMAN N SV
NMAR\NI NAND NINY mann
19 | homemade cakes,
,NYI\NI]
20 | singing Israeli songs DYONIY DXPY DY NPV PO
21 | etc. TNV INM
22 | The concept of oV PVINMIYINND
23 | using CDs DYNVYPNL VIOV VT7.0/0009PN

13
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24 | did not even NY 199N
25 | occur to my father. YAN DV INYT DY DY Y Yy awn
26 My friends listened with PNV IDYPN MIIN oy
interest
27 | to the stories of DY DNPOH\HY DIPNYOD
DMIN/NHND O>P NN OI2NN ONIPIN/ONYIN
28 | these veteran members,
, 0PPM
. YV DN O\ODY DY DNPD 0
29 | stories of a world
ooy
30 | that no longer exists. STIY DMPIRVIND DMP NIV yay any
[10 marks]

Conversion grid

Number of ticks

Mark

28-30

10

25-27

22-24

19-21

16-18

13-15

10-12

7-9

4-6

1-3

0

O |Rr I W |, Ol |N|O|©O©

14
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Section C

Multi-skill task

Assessment objectives 1, 2 and 3
Level of response marking instructions

Level of response mark schemes are broken down into levels, each of which has a
descriptor. The descriptor for the level shows the average performance for the level. There
are marks in each level.

Before you apply the mark scheme to a student’s answer read through the answer and
annotate it (as instructed) to show the qualities that are being looked for. You can then apply
the mark scheme.

Step 1 Determine a level

Start at the lowest level of the mark scheme and use it as a ladder to see whether the answer
meets the descriptor for that level. The descriptor for the level indicates the different qualities
that might be seen in the student’s answer for that level. If it meets the lowest level then go to
the next one and decide if it meets this level, and so on, until you have a match between the
level descriptor and the answer. With practice and familiarity you will find that for better answers
you will be able to quickly skip through the lower levels of the mark scheme.

When assigning a level you should look at the overall quality of the answer and not look to pick
holes in small and specific parts of the answer where the student has not performed quite as
well as the rest. If the answer covers different aspects of different levels of the mark scheme you
should use a best fit approach for defining the level and then use the variability of the response
to help decide the mark within the level, ie if the response is predominantly level 3 with a small
amount of level 4 material it would be placed in level 3 but be awarded a mark near the top of
the level because of the level 4 content.

Step 2 Determine a mark

Once you have assigned a level you need to decide on the mark. The descriptors on how to
allocate marks can help with this. The exemplar materials used during standardisation will help.
There will be an answer in the standardising materials which will correspond with each level of
the mark scheme. This answer will have been awarded a mark by the Lead Examiner. You can
compare the student’s answer with the example to determine if it is the same standard, better or
worse than the example. You can then use this to allocate a mark for the answer based on the
Lead Examiner's mark on the example.

You may well need to read back through the answer as you apply the mark scheme to clarify
points and assure yourself that the level and the mark are appropriate.

Indicative content in the mark scheme is provided as a guide for examiners. It is not
intended to be exhaustive and you must credit other valid points. Students do not have to
cover all of the points mentioned in the Indicative content to reach the highest level of the
mark scheme.

An answer which contains nothing of relevance to the question must be awarded no marks.

15
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Assessment criteria
Each assessment objective should be assessed independently.
Students are advised to write approximately 200 words per essay. Everything that students write must

be assessed; there is no word limit. Students writing the recommended length have access to the full
range of marks.

Assessment Objective 1

Mark AO1

Very good evaluation of the source

The relevant information from the spoken source material has been fully
understood. Arguments/views are very effectively summarised and there
is extensive evidence of drawing appropriate conclusions.

9-10

Good evaluation of the source

Most of the relevant information in the spoken source material has been
clearly understood. Arguments/views are effectively summarised and
there is frequent evidence of drawing appropriate conclusions.

7-8

Reasonable evaluation of the source

Some of the relevant information in the spoken source material has been
understood. There is some evidence of summarising arguments/views
and of drawing appropriate conclusions.

Limited evaluation of the source

A limited amount of relevant information in the spoken source has been
understood. There is limited evidence of summarising arguments/views
and of drawing appropriate conclusions.

3-4

Very limited evaluation of the source

A very limited amount of the relevant information in the spoken source
has been understood. There is rarely evidence of summarising
arguments/views and of drawing appropriate conclusions.

1-2

0 The student produces nothing worthy of credit.

16
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Assessment Objective 2

Mark

AO2

9-10

Very good evaluation of the source

The relevant information from the written source material has been fully
understood. Arguments/views are very effectively summarised and there
is extensive evidence of drawing appropriate conclusions

7-8

Good evaluation of the source

Most of the relevant information in the written source material has been
clearly understood. Arguments/views are effectively summarised and
there is frequent evidence of drawing appropriate conclusions.

5-6

Reasonable evaluation of the source

Some of the relevant information in the written source material has been
understood. There is some evidence of summarising arguments/views
and of drawing appropriate conclusions.

3-4

Limited evaluation of the source

A limited amount of relevant information in the written source has been
understood. There is limited evidence of summarising arguments/views
and of drawing appropriate conclusions.

1-2

Very limited evaluation of the source

A very limited amount of the relevant information in the written source
has been understood. There is rarely evidence of summarising
arguments/views and of drawing appropriate conclusions.

The student produces nothing worthy of credit.

17
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Assessment Objective 3

AO3

9-10

The language produced is mainly accurate with only occasional minor errors. The student
shows a consistently secure grasp of grammar and is able to manipulate complex language
accurately. The student uses a wide range of vocabulary appropriate to the context and the
task.

7-8

The language produced is generally accurate, but there are some minor errors. The student
shows a generally good grasp of grammar and is often able to manipulate complex language
accurately. The student uses a good range of vocabulary appropriate to the context and the
task.

5-6

The language produced is reasonably accurate, but there are a few serious errors. The
student shows a reasonable grasp of grammar and is sometimes able to manipulate complex
language accurately. The student uses a reasonable range of vocabulary appropriate to the
context and the task.

3-4

The language produced contains many errors. The student shows some grasp of grammar
and is occasionally able to manipulate complex language accurately. The student uses a
limited range of vocabulary appropriate to the context and the task.

1-2

The language produced contains many errors of a basic nature. The student shows little
grasp of grammar and is rarely able to manipulate complex language accurately. The student
uses a very limited range of vocabulary appropriate to the context and the task.

The student produces nothing worthy of credit.

Minor errors are defined as those which do not affect communication.

Serious errors are defined as those which adversely affect communication.

Minor errors include:
incorrect but close to correct spellings
incorrect genders and consequential errors of agreement unless these alter the meaning.

Serious errors include:

incorrect verb forms especially irregular forms

incorrect use of pronouns

missing or incorrect agreements of adjectives and verbs/tenses.

Complex language includes:

use of pronouns of all types

tenses that support conceptual complexity

connectives supporting a range of subordinate clauses including those requiring subjunctive
constructions with verbs and verbs followed by infinitive with correct preposition

use of present and past participles

use of passive forms

use of hypothetical conditional sentences

18
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Possible content Question 6

:TPON 19992 NI O DY DPNNDNN DN
DOTIMN ONNN O
D»NNDNN DTN O
YNMNONN DN ©
MNNONN NONN O
NIND NI O DY OOYN
NNIN MY MINNX NYID1AN NDPNP2IVNY DMIPYN
NIV NPI212N NAWN DY DO ©
miv2Rl e}
DMNN ©
NIN2 119120 NDXNPN DY DMPNNDNN DIMINNDT NDY

30 marks

(10 AO1, 10 AO2, 10 AO3)
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